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banancupoBka CMEMIaHHBIX NU3MEPEHUN Nwmst:
Pemure kaxayr 3axauy. OTBeTHI
1) 6 Henenu = THUA
1.
2) 2romwl = MECSIIBI
2.
3) 2 muiab = ¢dbyToB
3.
4) 5000 rpammoB(Ma) = KHJIorpamMma(oB)
4.
5) 1444q= JTHU
5.
6) 3 xunomeTpoB = METpbI
6.
7) 36 mecsubl = TOJIbI
7.
8) 16 ynuwmii(umn) = OYHTHI
8.
9) 28 xBapThl = raJIOHBI
9.
10) 3 caHTUMETpPHI = MUJLJTAMETPbI
10.
11) 6 ramioHsl = KBapThI
11.
12) 7 naun = Henes
12.
13) 120 cexynanl = MUH
13.
14) 4 apnos = ¢byToB
14.
15) 240 mun = q
15.
16) 6 000 metpsl = KWJIOMETPOB
16.
17) 4 nutpos(pa) = MUJUTHIIATPOB(pa)
17.
18) 6u= MHH
18.
19) 3 muH= CEKYH/IbI
19.
20) 7 000 mumunuTpoB(pa) = TUTpOB(pa)
20.
1-10 |95]19085|80([75]70]65]|60 55|50
MatemaTukaj = o oreSheets.ru 11-20 45 [40[35[30] 25|20 15[ 10] 5 | 0




=

BaJIaHCHpOBKa CMCIIIaHHBIX I/I3MepeHI/If/'I Nwms: Ka04 K NIpaBUIbHBIM O0TBETAM
Pemure kaxayr 3axauy. OTBeTHI
1) 6uenenu= 42 gHU
1. 42
2) 2rogpl= 24  Mecsubl
2. 24
3) 2vump= 10560 d¢yroB
3. 10 560
4) 5000 rpammoB(Ma)= 5 KHJIorpamMma(oB)
4 5
5) 144u= 6 THU
5 6
6) 3 xunomerpoB= 3 000 mMeTpbl
6 3000
7) 36 mecsupl = 3 TOJIbI
7 3
8) 16 yammii(un) = 1 OYHTHI
8 1
9) 28 xBaptei= 7 raJIOHBI
9 7
10) 3 cantumerpei = 30  MWIJIUMETPbI
10. 30
11) 6rammonsi= 24  KBapTh
1. 24
12) 7 naun = 1 Henes
12. 1
13) 120 cexynapi= 2 MUH
13. 2
14) 4spmoB=_ 12 ¢yTtoB
14. 12
15) 240 mun= 4 q
15 4
16) 6 000 meTper = 6 KHJIOMETPOB
16. 6
17) 4 mutpoB(pa) = 4000 wMumLTHIATPOB(pa)
17. 4 000
18) 6u= 360 wun
18, 360
19) 3mun=_ 180  cexkyHIbI
19. 180
20) 7 000 muunutpoB(pa) = 7  nuTpoB(pa)
20. 7
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